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Exercise 1 : (5 pts)
You have a 26-row amphitheater, with each row capable of accommodating either 3 or 4 students and the total number of

students is a multiple of 5. Create a C function that calculates and displays the number of rows containing 3 students and
the number of rows containing 4 students, assuming all rows are fully occupied. The function should consider all potential
combinations of student distribution and should present the number of rows for each configuration along with the total
number of students.
For example, the function will output:
nb of rows with 3 students = 4, nb of rows with 4 students = 22, and total number of students = 100.
nb of rows with 3 students = 9, nb of rows with 4 students = L¥, and total number of students = 95.
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Exercise 2 : (3 pts)
write a recursive C function that takes a string s and an integer x as a key. This function encrypts the string by incrementing

each character's ASCII value by the key. For instance, if the input string is “helle” and the key is 2, the encrypted string
would be “jgnang”. Note that: ‘h’+2="j’, ‘e’+2="g’, ....., ‘0’+2="q’
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Exercise 3 : (7 pts)
Write a C function that takes an array 4 and a number x. This function should return an array that ends with the number 0
and excludes numbers that are multiples of x or divide x.
Example: A={L,2,3,4,5,6,7,8,9} x=4 result={3, 5, 6, 7, 9, 0}
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Exercise 4 : (5 pts)
Write a C++ function that takes a list of integers and modifies the list by adding a new item after each element that is
even. The new item should be the double of the even number. You may utilize the following pre-defined functions from

the course without needing to redefine them: ‘add head’, ‘append end’, ‘delete_head’, and ‘delete_end’.
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Exercise 1 : (5 pts)

void calculateRows () {

int nb3, nb4, total;

for (nb3=0;nb3<=26;nb3++){

nb4=26-nb3;

total=nb3*3+nb4*4:

if (total%5==0)

printf(“nb of rows with 3 students = %d, nb of rows with 4 students = %d, and total number of
students = %0d\n”,nb3,nb4,total);

}

Exercise 2 : (3 pts)

void encryptStr(char *s, int x){

iIf(*s=="\0") return;

*S=*s+X;

encryptStr(s+1, x);

}
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Exercise 3 : (7 pts)
int* filteX (int* A, int n, int X){

int*t, i, j;
t=( int*)malloc(n*sizeof(int));
j=0;

for (i=0;i<n;i++)
iIf(A[i]%x==0|| x % A[i] ==0){
if(A[i]%x!=0 && x % A[i] '=0){

J++;
¥
t[j1=0;
t=( int*)realloc(t, (j+1)*sizeof(int));
return t;
b
Exercise 4 : (5 pts)
void insertEven(List h) { void insertEven(List h) {
while(h!=NULL){ Node* e;
if(h->data%2==0){ while(h!=NULL){
add_head(h->next, h->data*2); if(h->data%2==0){
h=h->next; e=new Node ;
e->data = h->data*2;
} e->next=h- > next ;
h= h->next; h->next=e;
} h=e;
}
h= h->next;
}
s




